Name: Practice
Block:

Algebra 2/Trig H 7 arhu

Collection of problems as practice for the final / |

\ 3

Test Format:

1. The test has about 30 questions. Some with multiple parts.
2. You have 120 minutes to complete the test (more if you have accommodations).

Common test instructions:

3. You should SHOW YOUR WORK for all parts of the answer to receive full credit.

4. Write your answers using either blue or black ink or a pencil. Please don't use red pen.

5. There is a clearly indicated space to write down your answer for each question. CLEARLY write your
final answer in the space provided. Only ONE answer per question will be considered.

Calculator is NOT allowed on the test.
With accommodation, you are allowed a 4-operations calculator.

Practice questions:

Will be handed out two weeks before the test.

Material covered:

All the material we covered this year. First and second semester included.
The material is available on schoology and on www.drbaharav.org.

=== End



Practice

Name:
Block:

1. Simplify:
(2x —3) - (4x%2 + 6x +9) — (4x% —3)
" o

= ?ff\ —4 "-‘I.L’E(‘

3 , ,
Result: EX -4y - )‘ér

2. Simplify:
2x—-3)-2x+3)—(x+4)(2x—8)

L C=——

dx =4
) g

= L{AQ*—(“ - :/l (x “"(1)”

-ty =3 *BLEIX Z

2

X *1D

Result:

3. Find the equation of the line perpendicular to
the line

y=5-2x

and that includes the point (1,0).
What is the intersection point of these two lines?

Mm=-L->m-=% 5 “73 -ix-%
. T v
Line equation:__ “] = 5 X—3
!/ e &4 > S v ‘,J-
7 i &~ v v <N\ Ly=§N< Ly ==
é; K"j:'”f- I RK = -;L'Lx )2 o .L':
- - .'( = 'j.;"
Intersection point: ( s L 0.6 ) 0,6
Plot: {
\ g
V ‘4"( t,f/;\[.'»/ /
S =351
—= 4 \ \’ va
il '\iz c ) \\
\:

4. Find the equation of the line parallel to the hne
y—2x=5

and that includes the point (1,1).
What is the intersection point of these two lines?

4= JET M EL M =
=X~

. . {
Line equation: /

= _}—X '»),

Are ver m 4(/74 /

Intersection point:
Plot:

//\:;\_ 7 =)}xX—
L

a / p
/ { V/ ‘\\’\. = Y~ §
// l,//'7 \i 2k

5. Factor completely:
8x3 + 27

Q_x‘\ ol

6. Factor completely:
—8x + 15

MV/A{ [ )('LS»\-\\'*'S’S :
I =873 WX~ ) -3(4- ) = (-

Answer: KL)( = %) ( LT Kié K+ L/’ )

}( K
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7. Factor completely:
18x3 — 8x

LK &c\ X.;\\ 7> =

21X U RO

< )X ( 3-2) (X))

Answer: lX(7X'-L> ( ))’Y ‘“,2,)

8. Factor completely:
6x% —19x + 15

4 )
&

by = 9qx=l0 X~/§
3 ( 2X~3)~ s(3x-3) °

(2x-3) (5x5)

Answer: (\c\}\ X'Q (3%- \1>

9. Simplify and give restricted values:
x2—4 x2—9
x—3 x2+5x + 6

N VD

/é\’/l ii*«, = (x*3) )
(0 U QN
(/\*“ﬂ( W)

\ /(\ﬁ 3 )\

Restricted Values:_ X+ > 3 .

Simplified: )

10. Simplify :

(x> =%  2x%y—2xy®

2 x+y

(»&J)u ““1) _f_)ﬁ
!Tm?L UN)
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11. Simplify and give restricted values: 12. Simplify:
1 x—1 6x-—16 1 x -1
x—4 x+4 x2-—16 x—4 x?2—x—12
S R L. ( -
=Y K49 (K-9)*) — s =
/ N Py -4} (r+3)
(44 - (o) = (x=18) R
. (<"})<v’+a) K+3 — K+l = L \
' 2 16 h -9 ¢ (x —4)=3)
T G ek S ol L (K79 CE3)

(*=9 )4

(K9]
G )4

Restricted Values:_ L= [F/, =y @ ) < v#7) | Restricted Values:_ K £ & L 3
=LK |
Simplified: = = Simplified:  (X-9)(k<3)
13. Solve: 14. Solve:
2 2 x—4 2 1
x2—9 x+3 x-3 Y —3x—4—x2—5x+4
~ . g | (x L k/“(l ( K’_L/>{“FT!)
S - 3 EJ e P 4{ Ny
_— S =) =7l
( /.‘ W) A \ op 2 ' 4 «»7) B ' y
(X)) A+3 ) 1,(/( ) (o)
)\ X +é — }( —H(*(L -0 )g /k K€ ((1) K ,(’»—7)( ;y-/')(,>g+/’)
o (3 B 1|
><-">)U(’ %) Y P WS
5] ( P (—- | ><X'[7\ UH'Y\ =0 R Gt N X+l C Z»(’,JA . '::— T
-— X“‘ x; 4 ,:L(/‘ "'(_/ k‘:, lr oy Y“ \;;’ L’ - IS -/f 1’{‘
- ; / ’ _ PR T
Solution: x= X = T or¥=-% Solution: x= X ’/»3 v
15. Solve: i 1
7 1 Ly, 5
_ S56=1 (x+1) - 1 ) ‘,
7()(*() =3 X Ve ﬁ_,,‘x ﬁ,’ etk O =
7)()‘#7 = \‘HY‘_I ------ // A T ( (1 y //,
, 3 3V
Solution: x= = "Lr
P R A ,. TR
> chet T T T T a0 (57 4
O =0 ‘\/ \ ( {3 =% - g v
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16. Divide using synthetic division:

(x° + 5x* — x3 — 3x% 4+ 5x — 25) + (x + 5)

N T L R
5 07 -~ ~'\""‘/\| 0
4 2
Answer: )( —\ +) X—S
17.Divide 18. Divide:
)
30x8 — 15x° + 40x* “\x—4  x+4
- 1 1
Sx* , ( )
/ x—4 = X+ 4
} ] b - v ‘ o ey
‘%\/X - IS")( L (’{ul' ‘_(“)__‘ _ J _ __EL__(L——-—I~ )_/_\_.é)_.(’\/
Sy N = Ce+a)  (R5)k+)
g¥! Gy X ( X K~*7 (-9 X ) L~
S L oa L - RegHE) e
R S T S (K ~9Lv=4) (*-9«1)
: WX > X
T >, l ) ’ L/
Answer: () K - SX + (5 Answer: x

19. Divide using synthetic division:

(x5—32)+ (x —2)

e
L 3 éﬂl o
Answer: Y ) L X 4&,\’ /(

20.Divide (long division) :
(64y° — 8) + (4y — 2)

tétw-*;f;z_f;\
b4 L]c

- ,; L 7»:.— .‘f/
1 ¢~ =16

SR ANY R
l((;'%}'i*ér Iy -4

Answer:




Name: Practice
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21.5olve i X, 22.Solve = 3 3
2 (D f— = e 161.5 = . 2 S A (5
273 = _{ Cr): 3 =9 49 6*=(1") 7 4=
‘\‘12 i i 1'_5 Lf 2: &
= a —_— =) 3 ‘ Q5 =1 7*9
27 3 i {\1 S5 (8) 3= l){ ]

23. Simplify such that there are no fractional or
negative exponents:

24. Simplify such that there are no fractional or
negative exponents:

xZ'y 5
£ —025 . 1,02
3 " g ‘qf X6 ¢ (Y
2 =i} / ¢ A »7 t -
wr ™ / /x ’ (/ «* * T
Ky e
[ = = XTH gt XAy
5 1
v  Iral Answer: ”L .
Answer: y 1Y ( /
25. Simplify: 26. Complete the three missing boxes
464x5y7
36xy?
EN i/ *l‘(r"'—;‘(:-‘
v 16 gl %
: ) (f{ 1 i

{4 AT
Answer: ' { j( 1
27. Simplify:
232 = V50 + V162 V24 — /81
/? A li ) / 1
L 2‘“")» § i P S, L
7 \ U y - é ’
\' ;/, ~ ¥ ;/b)/) ? S IVA - ’}4 >~ 15
l y 12 . e
Answer: [d 9’3:' BB l —

J
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29. Simplify (rationalize denominator) 30. Simplify (rationalize denominator)
V345 4 —2i
7 + \/g 4+ 2i
| g e o) LE=-lette
’:“2 <T )(/ ‘3 ) \u/\‘: 3 Y (}‘7/)““.)(/ ’ - ‘l(+/
Uil R igP s o (Gat) 1724) (+4
Qds) (- T T e ol
. l;:),? +3L {L:ﬂ,_/ R T e
- ____._I;—é——" o . ‘7/)’) \.»
, 3+ —————
. r B’:__:"»f
Answer: %E e Answer: Y (
31. Simplify 32. Simplify
(V=9 +9) - (V4 + V—4) (\/_+\/_)+L (V4 +V-4)
(34« *?\.)(;L-é.,u) Fep & )L (L+)2)
(L~ €=lke -6+ élc )l =L
— Answer: "'” }S‘L %) ( :
Answer: ) ”\ ¢ ( o
33. Solve and check 34. Solve and check
XxX—5=+x+7 Vx+7+4+8=x+3
N ) r
K512 £+7 Ve = X5
/18 ()6~ — VL
K= fox 4LV =X+ A4)= y -(uuz;
L SRR ) — )
UK +(§ =0 S8 ) k=0
(x)-00 & e
x =4 ¢ lef % = ckd =2
- 7 - \'" ‘:‘, | ;j . '-//'\-:-:? . '; . 5
1\ -vm l_,_”“),'_ /*7 H”‘“ < S
Tl =3 T oY 4 f >0 = 8 2
v/ %
[ 7=
Answer: / - 7/\\
f/, — ’\l/’_‘\j\

Answer:
—
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35. Solve: 36. Solve :
x2—81=0 x2—81x=0
ks TP 0V Veal— TR
V=g (g)eee)=c X (¥~¢1)= O
é"/x / ~" P
Answer: y=0q —¢ amwer: ¥ =0 pr £5F
37.Solve: 38. Solve:
—x?+4x—-3=0 i
- —3 9=20
L 23’ y+
X —4k+3 =0
)= 4 =6y 4d'=0
(0 g
(V3610 156
- ~ - =~ ~
§f 6 3t
. 15 N I3
A= oy x) A+ 4
Answer: S 0r X Answer: D+ % F 4

39. Solve using “Complete the square”:

x°+8x—-9=0

X% X+ 16 ~(6~4 =0

L4
g 1 N :é{
(x+4) =25 7 E
X_L“'(: ik :

=1

Answer:

0 A=-]

40. Solve using “Complete the square™:

4x* +12x—7=0
2 X P4 \ )
"

Answer:
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Block:

41. Solve 42.Solve

x2—4x+1=0 x>+81=0

S e o 4,
Answer: X — \Ffj Answer: l’&_"(:’(

43.Find three consecutive integers such that the square of the first plus the product of the other two is 46.
(you can use four operation calculator for this question)
n)‘i» QHI [(he))= 46 L, b \}yn-97=0.
l

2 2oandy =Lf —
=0 SNt DR
A/' =t ! )/ __,)_
) / Ne 19 L”_ﬂ'—,
Ly & F
Answer: _T ) / 0 .

44, Find three consecutive even integers such that the square of the middle one plus the product of the other
two is 28. (you can use four operation calculator for this question)

/
! A R Y AU N LN=-21 27 Cney)
(l i~l> i Q‘— N ‘L)( )v/') "‘,D — ) :g,f / J / ) ( <)
) ¢ y L, ‘ 7 ;
ﬁ_)\ ~ qn - 4=2P M =4 'LI Z‘* 0
’ L
é‘z h L: T - / n=-+) or - | > [6-+2C ~)JPJ '
f "? F r - J M
Answer: 1 0 OV «L/' { —b L h-g v
' ¢ o 7 . i

45.Find three consecutive odd integers such that twice the first plus the product of the other two is 73.
(you can use four operation calculator for this question)

3 5 [7/ ; N [0+ 65 37 7. | e l y Ln‘// lﬂ“”?) ; D2 %n " o J)) o
(3 LGS 6 fy 0 y-(1n-i L+ 1) Q)= 73
[N =d (7” P/'J'f}jm i‘} - 7\?

$ 79 ., -3l —g 4
[ ¢ / 0 / 7 & n la_J.[L n=72 =0

_{5

Answer:

nWo-3n-~-1€=0

N SIS T Vade

—— :/ - "
‘T 2L l —7 ~ ¢
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Graph the following functions. Indicate (if relevant) x-intercepts, y-intercepts, vertex, and any other significant

points, and then plot the functions.

46.
f)=2-1—-x) - (x—3)

):

?
)

-

(-krept X0 2o 1-(3)-

0 > }‘C ")L)(/"""’)’ )

2 [X 3

= §r—6

47.

flx) = 4x — x?
=X (4 ~X)

X_intercept: =1, X=3 | X_intercept: X =0/ X=% X :,O ,
Y lntercept e i 3 {’) *X ) Y lntercept @' X =0 :b 7:0
Vertex: (9. L) /\ 20 4 | Vertex: (l ‘*\ fLL =7
Plot: 2 (D))= | Pt o
-1 =
& - '",-f\
?/ i Y
x ‘\
4.9,
f) = ~(x—1)2+2
0 J-
X t/5]
o= Ly L“7<’(/ 37 X= B

= O
X intercept: /\f\' # _ 1
Y _intercept: N S & =0
Vertex: (), 1)
\_ L]
Plot:

X intercept: 5("'
Y _intercept:

Vertex: [ l Av\
Plot:

[.1y

15 =7

10
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50. 51

fx)= x*—4x+4

. Q{ - L) E

X intercept: X~ N X intercept: L~ /

Y_intercept:__ /| Y _intercept: 7

Vertex: ( 3_-l,. 0 ) Vertex:_

Plot: Plot: /
%,

52. The sum of two even numbers is 16. Find the numbers such that their product is maximum.

IW l(u/u -+ = l(, n= é‘ :> )~ d()
=t =4 m > 2rmxf

Y NN <> MAr L Ly
L n-m = 4 h (- h) L((‘h +gn> ‘ - ‘
he—b L T T

la =2

Answer: g ) g

/

/{/P:tic ‘, 7) 7 zj /(4‘/}@}/ ;’Z)._L// A/(,A7 ()l/(-)/)

@/U ¢y Sm allor . _. 11
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53. Graph the following function
f(x) = 2x* — 15x3 + 39x% — 41x + 15

Hint: The function has roots at 1 and 3.

(=1)=3)
e TS 39 =41 Y

R /;L /f\ :
7(,[ {l’y b7 =157 (H 43X “"W(“’Y> (1)

(A 6 I VYR
o I <lxl‘7X*S'>(k*l>(y'>>
[ 0 J\“m 783 /25T

yl(l - (7 ol N

f (2:X-5) L><~' ) Letye3)

26
<21
5

_~

Factored polynomial: <

Roots: )(E e \~) ,) ' \%

I}

End Behavior: ‘\ 1
f—nlercep i
Graph:

12
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54. Solve for x: 55. Solve for x:
a. x=1log,64 x= . a. x?=1log,16 x=_*) Or =N
b. 2=1log,x X= fl f’l b. 2 =lag;x? X= Z
— - " . 13
C. 2x+2 = 32 X—___Q_ c. Z(xz) = 64 x= _4: !M‘i,
56. Calculate the following 57. Give the value of the following functions
a. log4 +log250= [y CLOO

C. log(lOOOO)

L

3 >
/,( S—

d. log, G) =

log4 27 _ l

b3

L

b. log,3 —log, 48 = //(, 3 ( ({’é >'—

57

cos(30°)=_ 2 j‘,// "
b. sin(30°) = ﬁ 3¢
C. tan(30°) = 3
58. Calculate a’ and ‘H’ in the below
a= 5 3 H= ’L § — ‘C
l,/':l] ]
vy )

a
59. Determine if each of the below is geometric 60. Calculate the sum
arithmetic, or neither
101
o/
. 149162536, ) e, Z (n—50) =2
'f/ n=0
b. l)é).s.’i" - ) \‘ff«’ A __ """\')L (; / \-L é ) #(S"l\}
2’58’11 ) 6 U ( yU 71 ) (('JT‘ ¢
ST 3 &y ) %
= S / L ~/) s
o, 1337 s artt fmebe | =" v [0Q |
T 2’22’27

13
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61. Given the functions

f(x)=2x%>—1 and

glx)=x%-3

a. Find f(g(x)) )\/ (5( ) "' ,_T__’———ﬂ
:L[X 1"“"1'4 L

b. Find g(f(x)) s ‘d/_——

l‘/)( "/X -

(u—l) - LfTX =4 *’l

c. Find g(x) + f(x) . %
Q)_Yl"\HQ ’s) :}5>< "Lf(

62.Given the functions

f(x) =|2x—1] and

g(x) =x%-3 ' S
a. Find  f(g(x)) / = Uz’;) | ‘ :l@

b. Find g(f(x)) (}'{4{) % = Z,—)( 4X+1 o 3

(G = =]

c. Find g(x)+ f(x) ) ) ‘),)(*ll —+ ylﬁ\

14
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63. Find the inverse of f(x) using Table and algebraic method, and plot both:

fx)=1—-+vx—2

Remember to indicate range and domain of each function. 7

X «%oc)
Q 0

( - |

T
1§ |

7 ,
(=) =5 )
()(‘/)il:;) / [ : -
T
=B " +
gm—w—;——-“-’““’}__ Rt [ )

15
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64. Given the function f (x):

(6}

[¢)]

L o S
Find Range and Domain: h O M Uip - \‘:?) : ﬂg ‘& yc\ O h}/L . j/' )/ )‘}
Is the function Even/Odd? (/‘ ) (/U/L
a—C.

Graph f (x + 2). Range and Domain: _— D OWMULA E“ S\/ 3/\ Fﬁ (n fﬁ/& - ?)/ j&

Graph f (g) Range and Domain: — ~ - ~- ﬁ 0 M (?({}\ \; *(\J (\ \ %’?A [ 2! S/\
| # = ¢




